Scrooge's Christmas

Glockenspiel

Chris Brown

128

=54

19

10D T

110
=T

P
€

(O 1

|
2 bhH
I TV 1
1 [V

2

®
]

o D b

? 2

[
1| ¥V 7 @

] & &
1y 7 ¢

A | 7V 1

y 40
(&~ D

€

€

E

>

Bah!

Hum- bug!

6+ D] J=128
71
SV

rit.

C %

C %

71

M2 bH
" 1TV 1

15

@J: 104

12Y

12

=60

J

~
1%

10

7]

P’ )
[ an W)
()

> EvA
Hum
J

)
Fr

- bug!
i

=60
T

Bah!

A,

C %

1

[Pl |

f

~ g4
b WL el W

oM
®

Glockenspiel
oM.

J=96

0

P A N . W

gl h [V

113

P

o D b

C %

J=60

10

130

12Y

y 40
D

N J=144

1%

150

m

59

J=112
4 D bhH

gl h [V 1

[0

i
Y 4
2 Q

(&~ D

.. =120

accel. _

12

2174-=108
(A,

=144

J.=
o). =132 g

acc_elJ; =128

237

12

[ fan Yl

S Ha
| fan Wal>

© Croft Music 2020



Glockenspiel

P

P f

J=128

)
276

rall. _

(&1

rall. _

314

[ Fan Wl




